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Note : Answer any seven questions.

1. (a) Match the following correctly : 5×1=5

(i) Casimir funk (a) Base pairing
(ii) Sedimentation (b) Lactose
(iii) Chargaff’s

rule
(c) Svedberg

(iv) Milk sugar (d) Vitamin
(v) Fischer

projections
(e) Stereoisomerism

(b) Complete the following sentences : 5×1=5

(i) ................. vitamin deficiency causes
Beri-Beri.
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(ii) 1 mL is equal to ................. microlitres.

(iii) Proteoglycans are made of ................. .

(iv) In DNA, adenine always pairs with
................. .

(v) ................. blood group is known as
universal donor.

2. Draw the structures of any five of the following :

5×2=10

(i) Fructose

(ii) Alanine

(iii) Micelle

(iv) Tetrahedral geometry of water molecule

(v) Vitamin-C

(vi) Plasma membrane

3. (a) Explain any two non-covalent interactions
present in an aqueous system. 5

(b) Give the classification of amino acids based
on R-group. Explain in detail about any
two of them. 2+3
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4. (a) What is a peptide bond ? Differentiate

between an oligopeptide and polypeptide.

3+2 = 5

(b) Write a detailed note on mutarotation. 5

5. (a) Define  glycosidic bond. Describe  and
-glycosidic bonds, with suitable examples.

2+3 = 5

(b) What is Polysaccharide ? Write a short
note on plant storage polysaccharides.

2+3 = 5

6. (a) Explain the structure of cholesterol. 5

(b) What is signal transduction ? Explain
three types of signaling. 2+3 = 5

7. Describe the role of vitamins as coenzymes and
antioxidant molecules. 5+5 = 10

Or

Explain the structures of the following with the
help of a neatly labelled diagram :

(i) DNA

(ii) t-RNA
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8. Explain any four of the following : 4× 1
22 =10

(i) Waxes

(ii) Maltose

(iii) Quaternary structure of protein

(iv) Non-standard amino acids

(v) Nitrogenous bases

9. Write short notes on any two of the following :

2×5=10

(i) Buffers

(ii) Blood groups antigens

(iii) Glycosides
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(i) (a)

(ii) (b)

(iii) (c)

(iv) (d)

(v) (e)
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5×2=10

(i)

(ii)

(iii)

(iv)

(v)

(vi)



[ 7 ] BBCCT-101

P. T. O.

5

R

 

ª

ª

[ 8 ] BBCCT-101

(i)

(ii) (t-RNA)

4×2 1
2 =10

(i)

(ii)

(iii)

(iv)

(v) ª

× =

(i)

(ii)

(iii)
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